20117826 H
BE (2011FE5831H&LD)

1> ai=> lasw

i=1 j=1 fegl i=1

L I={1,....m}, J={1,...,n} TH5,

IERH D E|

nZIFBBRETEEE, FEBEDII N, A, ... .\ D50 ODEITH S E1Z. ROEM%
AleTEER VI,

(1) Z?ﬂ Ai =n,
(2) > X > > Mg
Bl Z 13X, 4 OHENZ

4

3,1
2,2
2,1,1
1,1,1,1

DEMTH D, n DFE A, Ag, ., A ITHL T,
a=1{j|1<j<k N=i} (1<i<n)

EBC L,

n

S i =n )

i=1

AR o, WMo, FREEROI] oy, ..., TEM (F) ZBETHOHE, n O

PEENE, LIS T, pn) Tn OXHORBELT L
p(n) = [{(en,...,an) € (NU{O})" | Y ia; = n}|
=1

1



= {(ay,...,a,) € {0,1,..,n}”|j£:zai=:n}|

= {fe{0,1,... ,n}lm "}|sz = n}|
—J7. TR EREER R[] 2BV T,

(l+z+2*+--)(1—2)=1

DY 320, [ARRIC
(I4+2'+2%+--)1-2a")=1

BT, [12,(1—2") AN EHEER R][z]] ICB W TERZRS
[[a-2)"cxiz 2" offsk
=1
=J[a-2)" eBiF 2 2" D%

= Hix” BT D 2™ DRI

fe{0,1,....n}{1Ln}
= {f e{0,1,... ,n}t n}!sz -
= p(n).
Tbb,
2% x—Hlﬂﬂﬂ
i=1

EREL. p0) =1 3%, T2&. p(n) OROMHERSHL 2

qupn— )=0, 7L iqum:ﬁ(l—mi).
m=0 1=1



